

















































Thm7.2.8 If f a b IR is monotone on ab facassata

then FERTAb

Pf Suppose f is increasing decreasing are similar

Take unifam partition P Exit Xi i suchthat

Xi Xi l b9 i 1,3 n with Xo a

Then fixi 1 fix fixi xe Exit Xi align

Define step functions

α x
44 e Exit Xe

f Xn 1 XE Xn e Xn

and Walx f Xi XE Xii Xi

f Xn E Xn 1 Xn

Then αnlx fix Unix xe a b

and Jaban It fixi 1 Xi Xi t

b
f Xo fexist f Xn 1

Jabwn I fixi xi Xi c

b
9 fix fixate f Xn



Sacon 2n b9 fan f xo b 9 fib flas
n

Hence E O Ine b 9 511 5191 sit

αnalx f x Whelx XETab

Salone the E

I FERTAb by SqueezeThm7.2.3


